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ECONOMICS
Paper III
Time Allowed : 2% Hours] [Maximum Marks : 150

Note :— This paper contains 75 questions. Attempt All questions. Each question

carries equal marks.

) & Slope of indifference curve is denoted as :
(A) . B &
e (B) dy
(C -dy " ; (D ﬂ
) Tax ) dy

2. Given the Price (P) and Output (Q), Marginal Revenue (MR) will be equal

to :
1 1 -
(A) "' '; (B) . -
1+ 2 3
© e (D) l+e
3. Which one of the following is represented by a rectangular
hyperbola ?

(A) Production Possibility Curve
(B) Average Fixed Cost Curve
(C) Marginal Cost Curve

(D) Total Fixed Cost Curve
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4. Consumer surplus is maximum in :
(A) Oligopoly
(B) Monopolistic competition
(C) Perfect competition
(D) Non-discriminating monopoly

5. Slutsky’s decomposition of price effect is not possible without a prior knowledge

of.:

(A) Income elasticity of demand
(B) Price elasticity of demand
(C) Cross eiasticity of demand
(D) Substitution elasticity

6. In the case of first-degree price discrimination under monopoly, which one

of the following is correct ?
(A) DD = MR (B) DD > MR
(C) DD < MR (D) None of these

TBC-39/13/ET-TIT - 4



4. ST AU (Consumer surplus) forgd sifysrag B & 2
(A) SIS
(B) UsIfbehIe Wit
(€ oi wieEf
D) -k TEHIEHER
5. e (Slutsky) 3 FTER iga wuE &1 fawer fra § J ffed @ W @
fam e & € 2
@) H F e e
B) WM W w A

©) Hf1 # et A=

(D) TUEPH «e

6. um%ﬁﬁmﬁ%%ﬁﬁﬁm%mﬁmﬁ%mw
¥ 2

(A) DD = MR (B) DD > MR

(C) DD < MR D) sﬁﬁaﬂs‘ﬁ
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7. A firm has certain initial equilibrium price, when demand function
D =40 - 3P and supply function S = 28 + 3P. If the firm’s new demand
function is D = 52 — 3P, what-are the initial equilibrium price and new

equilibrium price, respectively 4
(A) 2 and 5 (B) 2 and 4

(C) 4 and 2 (D) 5 and 2

-

8. Duopoly model by J. Bertrand was developed in :

(A) 1880 (B) 1883
(C) 1893 (D) 1890
9. Predatory pricing is when existing dominant firms :

(A) Charge higher prices to encourage new firms to enter
(B) Charge lower prices to prevent new firms from entering
(C) Charge same prices

(D) All of the above

mo 2an T TIT 6



wF T w1 e oTiNE Sqe WA ¥ Sefs 9T BeM D = 40 — 3P
g ®ed S = 28 + 3P ¥ | IR WH # T WM Hed D = 52 - 3P

a 9@, @ omfus ddfad *Hg WX qM T Sgfcd SIHG W OFHAC: H

T 2
(A) 23R 5 (B) 2 3R 4
(C) 4 3R 2 M) 5 AR 2

-gafg&R (Duopoly) #fed ﬁ 9¢=g (J. Bertrand) 30 fpw wq # fosfua fen

™ o9 ?
(A) 1880 (B) 1883
(C) 1893 (D) 1890

W2l wEfET (Predatory pricing) 98 ¥ 9@ a09M WY ®H :

(A) T wE w ow@w  fau Il w0 & fau afus Fiwa ayent €
(B)  wH W WY FH | 51 & fow #W FHq agedt €

(C) THM HHd Igerl &

(D) Swgaa gt
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10. Bandwagon effect creates :
(A) Strong imitation patterns
(B) Conspicuous consumption patterns
(C) Giffen paradox
(D) All of the above
11. Which three basic problems arise in connection with general
equilibrium ? : .
(A) Existence, uniqueness and stability
(B) Existence, duality and stability
(C) Existence, uniqueness and unstability
(D) None of the above
12. Which of the following is not rightly matched ?
(A) Super Multiplier — Hicks
(B) Wealth Effect — Pigbu
(C) Acceleration Principle — Clark

(D) Permanent Income Hypothesis — Duesenberry

TBC-39/13/ET-T1T - 8



10. 3v=dT y¥E (Bandwagon effect) 1 ¥ &l ¥ ?
(A) TWEeTEl WeveRl WWE (Imitation patterns)
(B) Twiaseg=s I JUE
() fifr fadenas
(D) SwdF |
11. Wﬁgﬂ?%ﬁﬁﬁﬁﬁ%ﬂ%ﬁ?%ﬂ@@ﬂiwﬁ% ?
(A) oI, sifgda T feora
(B) wifee, 2ual (Duality) T8 ferRa
(©) s, fgdy @ AfeRd
(D) I H & wE A
12. ﬁﬁﬁ@lmﬂﬁﬁﬂﬁﬁ@% ?
(A) afaqes — e
(B) wwfa W@ — WA
© = faga — =&

(D) Tt e uftwed T — SFEIE
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13.  If the long-run consumption function is proportional, then :
(A) APC = MPC (B) APC > MPC
(C) APC < MPC (D) None of these

14. Given the consumption function C =100 + %Y and income Y = 400. What

will be the value of APC ?
(A) 0.25 . (B) 0.75
(C) 1.0 (D) 0.5
15. The ‘Golden Age’ model was developed i)y :
(A) R.F. Harrod (B) R.G.D. Allen
(C) Joan Robinson | (D) N. Kaldor
16. Kisan Credit Car_d (KCC) scheme was introduced by whic.h government ?
(A) NDA (1998) (B) UPA (2008)

(C) NDA (1999) (D) UPA (2000)

TBC-39/13/ET-J[1. 10



13. 3fz deweid S9dm $od AEdfas B @
(A) APC = MPC- (B) APC > MPC
(C) APC < MPC (D) T F =R A

14. &3 gg 3udm %o C =100 +%YqﬁmY=400ﬁ§aar¢%ai’lmmm

ygfe =1 °F == @ ?

(A) 0.25 , (B) 0.75

() 1.0 (D) 05

15, ‘wfim gn’ wWea w1 ghues R e 2
(A) ¥R TH TS (B) &R . &1 weH
() i U= D) T HeeR

16. from #fee #1€ (KCC) @M = fFg &R 3 @ fFar ?
(A) TAET (1998) (B) 3J.4u (2008)
(C) TET (1999) (D) F.4.E. (2000)
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17. Which one of the following pairs is not correctly matched ?

(A) AW. Lewis —  Theory of Economic Growth
(B) G. Myrdal —  Asian Drama

(C) Adam Smith — Wealth of Nations

(D) Karl Marx - _Value and Capital

18. ‘Economic Development with unlimited supplies of labour’ is a model of

development given by :
(A) Harrod—Domar (B) Mahalanobis
(C) Karl Marx (D) A.W. Lewis

19. Who is the Chairman of Planning Commission in India at

present ?

(A) Dr. Montek Singh Ahluwalia
(B) Dr. C. Rangarajan

(C) D. Subbarao

(D) None of the above

TBC-39/13/ET <IIT - 12



17 Frefafes g § 9 $F8 @@m w fem 9@ T8 T ?

(A) U T=9g dfew - S A sHETES MY
(B) Sft. fasfa — U g

(C) TweH foy —  Joy % A

D) FE T — g we e

18 e B Com W el U & wa i fre dew fee R 2
(A) TE - W (B) WeleHIeE
() e " D) U o= wfE
19, odue §WE # 9RE @ A s 6 eAw s € 2
(A) of Aw foe smegatadn
(B) =l H. TRSH
(C) EI. g=wE

D) & A F FE T
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20. If the demand for money is perfectly interest inelastic, the LM curve will

be :
(A) Horizontal line (B) Upward sloping
(C) Vertical line (D) None of these

21. Quasi-rent is equal to :
(A) Price—AFQ (B) Price-AVC
(C) Pﬁce—MC (D) Price-ATC
22.  Who was the Chairman of 13th Finance Commission in India ?
(A) A.M. Khusro (B) K.C. Pant
(C) Vijai L. Kelkar (D) C. Rangarajan

93. Which of the following countries is not the member of European

Union ?
(A) Switzerland’ (B) Poland
(C) Malta (D) The Czeck Republic

TBC-39/13/ET-TIL. 14




00. @t [m F "M ww % W Pl SEEER @, @ T T (LM) 5

am o
A) & T (B) = ¥ FW & &N
(C) e T o T W

91 enwe @A B # ¥ fred R ® 27

(A) Fua — sfwa fer @mE (B) wma — 3fEm 9Radaeia
(C) wmwa — HE @ (D) wHma — IHd Ha AU
99. WRE # Wed fow smm & WAy HH 9 ?
(A) T TH GR (B) & ®. U=
() fovm wE FHaH (D) . TReE
93, frefefen § ¥ @ v QA 99 w1 TWE @ 8 ?
(a) fasrcvs - (B) @S

~

(C) el D) =& TR
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24. Okun’s law explains :
(A) Impact of unemployment on aggregate output

(B) Impact of aggregate output on unemployment
(C) Impact of unemployment on rate of interest
(D) Impact of unemployment on wages

25.  Given the consumption function C = 50 + 0.8 Y; and Tax ¢ = 0.2Y, what

will be the value of investment multiplier ?
(A) 5 ' B) 25
(C) 4 ‘ D) 3

26. Which one of the following is correct formula for tax multiplier ?

() MPS 1
MPC oy ‘T
© Oy . D) 1-MPS

27. “A country is poor because it is poor” are the words of :
(A) Hicks (B) Keynes

(C) Nurkse ' (D) Myrdal

TRC.RAM1/ET -TIT 16



94, @A w1 frEm omEm W ¥ o
(A) ST 1 Y SR W WY
(B) wmﬁmaﬁmmuw'
(©) ﬂfrmrﬁmmaﬁa‘mm

D) AT W OASRH W W AHE

5. fear % 3udm We C = 50 + 0.8 Yy T & ¢t = 0.2Y, fEw Toiw H g

= B ?
@A) 5 | B) 25
(C) 4 (D) 3

96. Frefafeg § ¥ X OTE H WE GF BAE T 2

() MPS 1

@ Mpc ®)  1_WMPC
MPC | 1

© ) yps D)  1_-MPS

o7 ‘ww dw The § FifE 9% T ¥ 9w W R ¥ 2
A) fe= (B) &
(C) =4 M) fas&
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28. What causes shift of IS curve up and to the right ?

(A) Increase in expected future output
(B) Increase in government purchases
(C) Increase in wealth

(D) All of the above

29. In the Keynesian range of LM curve, an expansionary fiscal policy will

have :
(A) full crowding <;ut
(B) no crowding out
(C) partial crowding out
(D) none of the above
30. The J curve explains the response pattern of :
(A) Export to a real depreciation
(B) Import to a real depreciation
(C) Net export to a real depreciation

(D) None of the above

TBC-39/13/ET-1IL. 18



98, aiE. T§. (IS) 9% w1 fawsE SW w Sfed i fFad Ru @ ¥ 2

(A) wfgsr # dwfas sARA 9fE
(B) &M w4 # afs
() g=fa # gfs

D) sSwds [t

29. m.@.(LM)am%Wﬁmwﬁwﬁﬂ_wmaﬁﬁmuma

am

(A) mufmrswamz

(B) wIfen M3 Wl SAgufedfa
(C) it wrefen amse

D) 3zwEs § ¥ FE &

30. = 9% (J curve) ST WEY (Response pattern) &l SRS &Il € :

(A) frfa w aafas gegg™ &
(B) . @@ W SrKfash Hoded
©) s fald ® aafas e H

(D) sSEx # | FE T
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31.

32.

33.

Tax Information Network (TIN) started in January 2004 is associated

with :
(A) Sales tax ‘ | (B) Income tax
(C) VAT (D) Corporate profit tax

The balanced growth theory sees the primary cause of underdevelopment is

the :

(A) Low level of f:echnology
(B) Small 81ze of market
(C) Foreign domination

(D) Lack of savings

Reserve Bank of India calculates four components of money supply, M;, My,

M;, My, which one of the following statements is not correct ?
(A) M, = currency with public + demand deposits with bani{
(B) M, = M; + post office saving deposit

(C) Mg=M; + M,

(D) My = Mg + total post office deposits



31.

32.

33.

W.zomﬁ'wﬁmwmzﬁmmﬁ(ﬂmm%ma

rafad ? $
(A fEsm = (B) 3T T
(C) <= (VAT D) T\ @y T

ﬁmmﬁmmﬁmmg@mm%:
(A) dFAE @ I wR
(B) WNIR 1 Wl MEHER

() foc=it ad=

(D) w=a § F

Wﬁa&ﬁmgmqﬁﬁmﬁnﬁwﬁMl,Mz,Mé,M“@m%,ﬁmfaF@a
# q Fr@ w9 W W 8 ?

A) M, = S F UE GH + Fw F TW AT A
(B) M, = M,; + SR # =@ wmng

D) M, = M + SHFR § FHA T
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34.

35.

36.

In India, estimates of National Income are based on :

(A) Net income method only

(B) Ne,t output method o?ﬂ'y

(C) Net income, net output and net expenditure methods
(D) Net expenditure method only |

Consider the following important sources of tax revenue for the Central

Government budget for the year 2011-12 :
(1) Corporation tax (2) Customs
(3) Union excise duties

Which one of the following is their correct descending order in terms of gross

tax revenue ?

A @), @), @) B) (2), (1), 3)

(©) 3),(2), D D) (2), 3), (1)
Who developed the Time Preference Theory of Interest ?
(A) Irving Fisher (B) N. Senior

(C) J.R. Hicks (D) J.M. Keynes

TBC-39/13/ET /11 22



34.

35.

36.

IR H U HE H AHH oNUIE ¥

(A) for fEa 3 ggld w

(B) faté.ﬁaammmw

(©) fraa @, fow 3o @ e = &y w

D) far faa =@ fafy «

ad 2011-12 & fou 39 TWHER B a9 § W AG & FEfarea geegel Fid
R faer =ifET :

1) fm =2 (2 FEH

(3) U HE 34K Yh

TFT T AH B U HW § Frefafed § ¥ FEw @@ ¥ ?
Aa) @), 2), 3 B) (@), 1), 3)

© @), @), 1) D (2), 3), (1)
m"m g oifuwe fag e fasfaa fear 2

(a) sfEn fReR | (B) . HifR

© 3. am few O 3 W F
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37. The relationship between the rate of change of money, wages and rate of

unemployment is known as :

(A)
(©)

Baumol’s hypothesis (B) Keynesian model

Friedman model « (D) Phillips curve

38. The incidence of a sales tax will be on the sellers when :

(A)
(B)
(©)

(D)

The demand for the commodity is perfectly elastic
The demand for the commodity is perfectly inelastic
The demand curve is a rectangular hyperbola

The demand for the commodity is moderately elastic

39. Match List F (Tax) with List II (Imposed and collected by) and select the

correct answer from the codes given below :

List 1 List II
(@) Corporation Tax (1) State Government
(b) Sales Tax (2) Municipal Corporation
(¢) House Tax ‘ (3) Government of India
(d) Wealth Tax
Codes :

(@) () () (d)
(A) 3) (1) (2) (3)
(B) (2) (1) (1) (3)
C) (2 (3) (3) (2)
D) @ (2) (2) (1)

TBC-39/13/ET-TIT.- | 24



37. gmw@ﬁmﬁmwaﬁmﬁaﬁaﬁamﬁmm%:

(A)

(C)

CIECIGERIEC Te kil (B) Sif=agq Hisd
HIeHq Hisd (D) fefew =%

38. fast & &1 U"@ (incidence) faddr 9T BT & 94 e

(A)
(B)
(C)

(D)

A
I & A YUiad SRR @
it aF R T @
a5 &1 A1 wH AEER ¥

39. ﬁw@@l(m)ﬁmﬂuﬁnlmqém(dmﬁaa)]am-«ft%ﬁraﬁz
¥ TE IW H 9F7 HIWC ' |

(@)
()
(e)
(d)

gt 1 gt 11

frm =% (1) T SR
fast = 2 R
Te 1 (3) WRA TIHR
g

e

" (A)
(B)

(©)

(D)

(a) (b) () (d)
(3) (1) (2) 3)
(2) (‘1) | (1) 3)
(2) (3) 3 - @

(3) (2) (2) (1)
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40. Which of the following are not included in current revenue of the Union

Government ?

(1) Tax revenue

(3) Loans

(5) Interest payment
Codes :

(A) (1), (2) and (5)

(©) (1), (3), (4) and(5)

(2) Non-tax revenue

(4) Small savings

(B) (3) and (4)

(D) (2) and (5)

41. What is the child sex ratio of Himachal Pradesh, according to Census

2011 ?
(A) 920
(C) 906
42. The Indian Income Tax is :
(1) Income-elastic
(3) Proportionate
Of these statements
(A) (1), (2) and (4) are correct

(C) (3) and (4) are correct

TBC-39/13/ET -TIT. -

(B) 846

(D) 883

(2) Direct

(4) Regressive

(B) (1) and (2) are correct

(D) None of these



40. fr= § @ 99 969 SR & =I5 TS (current revenue) B YA @ ¥ 7

(1) = (2) S-H T
(3) F=U (4) <9 99d

(5) =S YaH

HE

(A). (1), (2) a1 (5) (B) (3) 91 (4)

(€C) ), ), (4) 7= (5) (D) (2) 7= (5)

41. SETOF 2011 ® FTER feqrael wRw &1 fory] feim 9@ (child sex ratio) ¥
¥ 2 |

(A) 920 (B) 846
©) 906 | D) 883

42. YERE AEH ¥

(1) sg-d=id (2) wIE

(3)  ImgufaH (4) Wit

™ OHYE A

A) (1), (2) T (4) T& ¥ (B) (1) 7= (2) W& ¥
(C) (3) dM (4) W& D) 3@  FE Af T
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43.

44,

45.

The Principle of Maximum Social Advantage is concerned with :
(A) taxation only
(B) expenditure only

(C) public debt only

(D) both taxation and public expenditure

‘Justice in taxation’ is best ensured by applying the principle of :

(A) equal absczlute sécriﬁce

(B) équal proportional sacrifice

(C) equal marginal sacrifice

(D) equal constant.; sacrifice )

To which one of the following does the liquidity trap correspond ?
(A) Consumption function

(B) Production function

(C) Money demand function

(D) Labour demand function



43. efusran Tt oy w1 fagra gEfeE € o
(A) % &
(B) To® =4
() fow wEstTF ®=0
(D) mqﬁwﬁaﬁﬁmaﬁ
44. .‘aﬂﬁwm'ﬁwfammmwﬁaaﬁmm%?
(A) wum 9w =
(B) WA g
(C) wHHE HHF @
(D) TuA fer <
45. Frefefed § ¥ S W@ W9 e § 2
(A) UM e
(B) SURA HeE
(C)- gatwhrrm
(D) &9 | HeH

TBC-39/13/ET -TIT.. 29

P.T.0.



46.

47.

The ‘credit multiplier’ coefficient is :

(A) the reciprocal of cash reserve ratio

(B) equal to cash reserve ratio

(C) a ratio of excess reserve to primary deposits
(D) a ratio of interest rate of primary deposits

Which one of the following methods can be used as an instrument of quali-

tative control of credjf by the Central Bank ?

(A) Bank rate polic)"

(B) Open market operations

(C) Changes in Margin requirements

(D) Variations in Reserve Ratio

Mahalanobis plan model was adopted from which growth model ?
(A) Harrod-Domar model

(B) Feldman’s model

(C) Lewis model of economic growth

(D) Ranis-Fei model

I'BC-39/13/ET IT"- 30



46. ‘@@ T’ & ONE B

(A)

(B)

(C)

(D)

qhe Uad FAUE w1 A
Thg AHa oud & §HH
dod afuad (excess reserve) ¥ URMNEH SHIS =1 A9

yRfts sEsli | &S & S 31U

47. W@ﬁ@ﬁﬁﬁﬁ#ﬁﬁmwﬁﬁm%mmzﬁﬁm

= g 2
[ T @A) o AR
‘® & aeR W fwand
(C) mra eTavasas (Marginal requirements) ¥ GREdA

(D)

ford squa # wedE

48. wEfaE A oied fRa gfy wew @ fam w2

(A)
(B)
(©C)

(D)

Fs—<SR Afed
Gezis wea
wfaq =1 anfds gfe 1 Afesd

Fe-wre A@led

TBC-39/13/ET-TIT . 31 52 )



49.

50.

51.

52.

India’s global position in Human Development Report, 2011 is :
(A) 134 (B) 140
(C) 110 (D) 130.

What is the India’s expenditure on health as percentage of Gross Domestic

Product (GDP) in 2010 ?
(4) 10 (B) 8
©) 4 _ D) 6

What is the percentage share of service sector in occupational structure in

India (2010) ?
(A) 30 (B) 27
(C) 25 _ (D) 15

If in a year, the gross fiscal deficit of government is Rs. 3,00,000 crores, revenue
deficit is Rs. 1,50,000 crores and interest payments are Rs. 80,000 crores, what

is the primary deficit of the government in the year ?
(A) Rs. 23,000 crores (B) Rs. 45,000 crores

(C) Rs. 70,000 crores - (D) Rs. 2,20,000 crores
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19.

50.

51.

52.

aRe fawE g%, 2011 ¥ wra =1 favs # feufq = :
(A) 134 (B) 140
(C) 110 ) 130

aﬁzoloﬁwﬂaﬁumaﬁm(GDP)ﬁwmmmm

F T ?
(A) 10 ~ "(B) 8
(C) 4 ; (D) 6

,Wmm@om)ﬁﬂmﬂaﬁf‘a@mmw%?

(A) 30 (B) 27
(C) 25 (D) 15

afg ferdlt 4 TR &1 THa TS =12 3,00,000 FUE &., ANH = (revenuc
deficit) 1,50,000 TS &, AU =S YA 80,000 FIF T F, & Ta T T

=1 Wafgs e =T ?
(A) 23,000 Fg T (B) 45,000 =18 T

(©) 70,000 FIS & D) 2,20,000 FIT &
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53.  If the utility function is U = flxq, x9) and the constraint is

then the first order and second order condition for maximisation can be

expressed as :

fin  fie - P
(A) () fi/fy =p/ps and Gi) |fn Foo —Pa| >0

- M - R
fu fz -p
(B) @ fi/f; = p/ps and (ii) for faz -p2| <0
P —py O
fu hfe -p
(C @ A/py =f/p, and (i) fa1 foe —pPa| =0
B W 0

(D) none of the above

d
54. If p,/ a5 d_zg is positive, then :
1

(A) the commodities are substitutes
(B) the commodities are complements
(C) there is no relation between the two commodities

(D) the expression is meaningless

'BC-39/13/ET -TIT. - 34



53, fe SUAIfT wed A dwe o

U = flxg, xg)
M = PyX; + PoX,
¢ @ =@d (minima) 991 #AfHTH (maxima) F wun Hfe aw fgda =il
yfeerg (W) f @ '

fu he — P

(A)

(B)-

(C)

(D)

Tl T TR H A €

FEE TF ©

3 gt # wE wEH W E

sfefag & #E 34 T T

TBC-39/13/ET-]]L .
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(A) @) filfs =p/p; T @) fao foo -P2| >0
-pr -p2 O
> ' fu he — B
- B) @) filfs = py/ py T (D) foo faa -P2| <0
-pp -p2 0O
- fu h: — P
(C) @) fil py =fol py T GD) for foo -P2| =0
-P1 —P2 0
(D) = & § +8 el
dgy
54. AR plgy o> U T A
75

P.T.O.



55.

56.

. 87,

58.

If the production function is :
q = flxy, x5)
then the rate of technical substitution is :
(A) —dxy/dxy=f/fs ) (B) —dx;/dxy =f5/f
(C) none of the these (D) (A) and (B) both
When the firm under monopoly maximises profit the price of the product at

the equilibrium level of output is :

(A) equal to MC (B) greater than MC
(C) equal to AC g (D) less than MC
Hawkin-Simon condition requires that :

(A) determinant of [I — A] must be positive and all principal minors of

(I — A] must be positive
(B) all principal minors of [I — A] must be positive
(C) all the elements in the matrix [I — A] must be positive
(D) none of the above
The original of linear programming problem is called :
(A) Dual problem (B) Primal problem

(C) Saddle point M) Noiie of theso
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5d.

56.

o7.

58.

gfe I@AEA Hed
q = f(xy, x3)

%,aﬁaﬁﬁgﬁwmaﬁa%:

(A) —dx/dxy =filf (B) —dx/dx; = fo!fi
(©) T q FE T @) (A) 3R (B) THi
wqmmﬁs%ﬁgmﬁfmﬁrﬁaﬁww:

A) MC (dra @mE) # AR B ©

B MC ¥ s oy

(C) AC. (3ga =) 3 WA AW d

(D) MC A %° 3

2ffF=g-ues v (Hawkins-Simon condition) 4§ T :

(A) [I-A]mﬁuﬁmm-maﬁﬁam I — Al & 7& AR
YA B drfed

(B) [I_—Alﬁg@mtﬁﬁmmﬁaﬁﬂ
(C) [I-Alm%amﬁaaméﬁmﬁsa
D) = ¥ FE A

Yo GuE TEE § YA FEd § ¢

(A) - &Y FHE (B) 3™ qHEA

() == fag (Saddle point) D) = & F:g o T
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59. The demand function is homogenous of degree one in all prices and income

of the consumer. This means :

(A) If all prices and income increase in the same proportion, demand for

the good will increase more than proportionally

(B) If all prices and income increase in the same proportion, demand will

increase in the same proportion

(C) 1If all prices and income increase in the same proportion, there will be

no change in demand
(D) all the above options are wrong
60. Exit policy refers to :

(A) right of an industrial unit to withdraw from or leave an industry, or

in other words to close down
(B) right of an industrial unit to withdraw from a country
(C) withdrawal of a country from international trade
(D) none of the above
61. Changes in the industrial structure in the post-reform period is in the form of :
(A) Large investment in consumer goods and intermediate goods
(B) Expansion of small scale industries‘ |
(C) Increase in regibnal imbalances

(D) None of the abov‘e
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59.

60.

61.

IodET # o AW e § M Ger @ gem Sl whewa oY © o

A) T gl 7 o aE H @ oguw # 9f A & @ ui A Ifs W
sfas sTa H B

B) A% 9@ a9 T UF @ Sue-d wgd § A A I e # aud ¥

© % T v o A T H e ¥ A dh § A R
%

D) IrEE Wt el sEA €
ﬁ"fﬂ'*ﬁﬁ%‘l C'Hif%-:

(A) @Mﬁﬁmm'maﬁa@mm,mmﬁﬁwﬁ
T FE H IHFER

(B) & #E & °¥ ¥ IR IH H AUER

(C) TF W & F«U=d AR H A

(D) 3w § § I8 o T

sifds gl @ @ T B AR Ya defrs A e e e
(A) 39 Tl wen wemEd asged d e & 9fs

(B) @Y & 1 fawR

(€) &fta srEger A Ifs

(D) wHEFE ¥/ FE T
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62.

63.

64.

According to study conducted by ......oceeviiiinnneee. reservation of goods for small

scale industries have adverse effect on growth of exports.
(A) A. K. Sen (B) D. Subbarao
(C) Rakesh Mohan ; (D) G.S. Bhalla

A study of 400 large companies that account for 50% of private corporate
turnover show that public sector financial institution own over 50% equity

in large number of these companies. This implies :
(A) Financial market has not developed in India
(B) Companies have not been able to generate their own funds

(C) Government interferes in management decisions indirectly through the

representativefs of financial institutions in the Board of Directors
(D) All of the above
After the introduction of economic reforms :
(A) Private investment in industries has declined
(B) For;zign investors have left the country

(C) Public sector has grown rapidly

(D) controls and government intervention in the industry has been

reduced
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62.

63.

64.

FRu fald W g0 99 981§ |
(A) T T (B) i g=NE

(C) T&Y HIEA (D) Sl TH. el

frsft & =1 400 T FEFE $ swrEm ¥ 7g frwd feren fF T 50 wiov
ﬁsﬁmuﬁmﬁ?ﬁﬁd@uﬁmwﬂa%lmaé%: |

A) wra § fad aeR W faww T oen ®

o (B)  wetEl e @6 w1 e W oW T ¥

anfdes QUi & IYER

(A) <o § B fefem A g

(B) faesﬂﬁawamamaaéna%
©) wdstE @ @ dw T § fEm g ¥

(D) ﬁ@ﬁmmﬁma}ﬁw-mmmﬁiwgé%
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65.

66.

67.

68.

The poor performance of public sector in India is due to :
(A) political interference

(B) management by bureaucrats

(C) existence of excess capacity

(D) reasons (A), (B) and (C)

Total factor productivity is a measure of the output of an industry relative
to size of entire primary factor inputs. According to a study conducted by
.............. , there has been a slowdown in the total factor productivity in the

post-reform period dt;e to deterioration in capacity utilisa.tion.
(A) Bishwanath Goldar (B) Bulant Unel

(C) Tata Services Limited (D) NCAER

The new industrial policy has abolished :

(A) Industrial licensing (B) MRTP Act

(C) Industrial Dispute Act (D) Consumer Protection Act

Which one of the following is explained by Fei-Ranis model ?

(A) Planning methods when labour is in short supply

(B) Growth process of the industrial sector

(C) The inter-relationship between the agriculture and the industrial sector

(D) A neo-classical framework of growth analysis
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65.

66.

ity

67.

68.

Wﬁmﬁmﬁaﬁﬁﬁﬁtﬂmmm

(A) TSI BEIEY (B) AR g WEEH

() SEm H osfals e D) (A), (B) R (C)

Fd @gq Scageal [Total Factor Productivity (TFP)) ®1 T &1 & ford &
%Wﬁwmmwnﬁﬂémﬂm&m&lﬁmm% |
................ 0 Y T s @ SR, S U W T W T
mwmawmﬁém(TFP)%ﬂmmmmﬁﬁm%l

(A) favaie Tieet (Bishwanath Goldar)

(B) d &= 37 (Bulant Unel)

(C) <= wfdw fafiZs (Tata Services Limited)

(D) TAHEESR (NCAER)

T sieife Afe § @ wuw W e T ow o

(a) Iieifre wdE (B) MRTP fufam
() oieifes faare sifufad (D) Sy wew sAfEtEd
Fei-Ranis Wfee e § ¥ frgs! =amem & & ?

(A) dree fafeel s osm gfd d o @

(B) oleifis &= =t Sgfe whea

(©) T v Siafies &% w1 Ay

(D) wafp favamm =t Ta-oEEmd B
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69.

70.

71.

2.

A good index number is one which satisfies :

(1)  Unit test (2) Time reversal test
(3) Factor reversal test

Which statement is correct ?

(A) (1) only (B) (2) only

(C) (2) and (3) (D) (1), (2) and (3)
The correlation coefficient is independent of :

(A) Scale only ‘ (B) Origin only

(C) Both scale and origin (D) Vertex

According to Rosenstein Rodan which one of the following is necessary for

increase in savings and investment ?
(A) Increase in Demand (B) Higher level of income
(C) Increase in Profit (D) Increase in Consumption

What is the ratio between the price of a country’s export good and price of

its import goods known as ?
(A) Double factoral terms of trade (B) Income terms of trade

(C) Single factoral terms of trade (D) Net barter terms of trade
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69.

70.

71.

72.

(1) THER gaEm ©) THA SohrEdl W
(3) WA SehrEE e

@ fawes W& ¥ ?

(A) Haa (1) (B) Hada (2)

© (@@ @3 O (D, (2 @ @)
e Ol c R Lo I L T

(A) Fad TE o B) FHad @

() Tm @ I« aﬁi D) w4

ﬂ@i@?m%mw@mﬁ'qﬁ;%fmﬁﬁ%ﬁaﬂﬁﬂww
T ?

(A) = # g (B) o™ &1 IedaH WX

©) @4 #H IS () zvam # gfs
@&ﬂeﬁﬁmﬁamq&mmwmmw%mm% ?
(A) <l @ SR ¥ (Double factoral terms of trade)

(B) @M@ MR W

(C) TuFA WA (Single factoral) ORI

D) e aw fafa (Net barter) ORI
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73.  Dusenberry was of the opinion that less developed countries will have serious

and adverse effect of their balance of payments due to :
(A) Spread effect (B) Backwash effect
(C) Multiplier effect (D) Demonstration effect

74. Which of the following economists argued that international trade was

detrimental to the industrialization of the developing countries ?
(1) Haberler . (2) Gunnar Mpyrdal
(3) Raul Prebisch (4) David Ricardo
Select the correct answer from codes given below :
(A) (1) only (B) (1) and (2)
(C) (2) and (3) (D) (1) and (4)
75. National Rural Development Institute is located at :
(A) New Delhi (B) Mu.mbai

(C) Hyderabad (D) Karnal
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73. Wﬁwmmﬁmﬁﬁwmmﬁﬁnwmum
T HRU T
(A) famm weE (Spread effect) L (B)  dFAR WHE
(C) T RHE (D) TEYHSER U
74. ﬁnﬁqf@aaﬁwﬁaﬁﬁﬂfaﬂmﬂ%aafmﬁﬁmﬂa%sﬁ%wﬁmm%
& T s SR TR A ¥
(1) TR 2 TR fuga
(3) TS df&™ @) 2fas feEl
freafefaa @eg § ¥ W8 ITW F IAE HEQ
(A) Faa (1) (B) (1) @@ (2)
(©) (2 @ (3) D) (D) @ @)
75. Wm%mwﬁﬁw%?
(a) 8 e (B) o=

(C) T&UER (D) A
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